National Highways & Infrastructure Development Corporation

Minutes of Meeting of the Empowered Financial Bid Opening Committee (EFBC). held at NHIDCL, New Delhi, on 05.03.2019, for Consultancy Services for Authority's Engineer for supervision of:

- (i) Up-gradation to 4-lane with Paved Shoulder of Jammu-Akhnoor road section of NH-144A from Canal head (Km 0.800) to Ganesh Vihar (Km 6.000) of 5.2 Km length
- (ii) Up-gradation to 4-lane with Paved Shoulder of Jammu-Akhnoor road section of NH-144A from Ganesh Vihar (Km 6.000) to Hanuman Chowk (Km 30.000) of 24 Km length in the state of Jammu and Kashmir to be executed on EPC basis.
- (iii) Widening and Up-gradation to 2 lane with paved shoulder configuration and geometric improvement from km 0.000 to km 16.990 on Chenani -Sudhmahadev section of NH-244 in the state of Jammu and Kashmir to be executed on EPC basis.

Consequent to approval of the recommendation of Empowered Technical Evaluation Committee (ETEC) by the Competent Authority, the financial bids of the three technically qualified firms were opened by the Empowered Financial Bid Opening Committee (EFBC) on 05.03.2019 at 1100 hrs. The representative from two qualified firms attended the meeting (Annexure-I).

2. The details of the Bids as opened by EFBC are as under:

SI. No.	Name of the Firm	Financial Quote (in INR) (excluding all taxes)	Financial Quote (in INR) (including all taxes)
(i)	RODIC CONSULTANTS PVT. LTD.	14,89,64,428.00	17,57,78,025.00
(ii)	TPF GETINSA EUROESTUDIOS S.L. In Association with Segmental Consulting & Infrastructure Advisory Pvt. Ltd.	-	17,02,83,728.00
(iii)	YONGMA ENGINEERING CO LTD In Association with Manglam Associates	13,75,16,655.00	16,22,69,653.00

- The Committee noted that M/s. TPF GETINSA EUROESTUDIOS S.L. In Association with Segmental Consulting & Infrastructure Advisory Pvt. Ltd. has submitted his financial in the format which is inclusive of all taxes. The other two firms have submitted their financial proposal net of taxes and inclusive of taxes as well as per the modified financial proposal format as per Amendment No-2.
- Committee further noted that vide Amendment No-2 dated 25.10.2018 a Modified BOQ was uploaded on the CPP Portal where bidders were required to submit the financial proposal both as inclusive and exclusive of taxes. However, the bidder M/s TPF GETINSA EUROESTUDIOS S.L. in Association with Segmental Consulting & Infrastructure Advisory Pvt. Ltd. has submitted his financial bid in the old format where the amount was as per Including Taxes.
- The financial quote of the bidders is attached as Annexure-II.

Meeting ended with vote of thanks to chair.

Sunil Gupta, Manager (Fin.)

(Member)

Adil Singh, GM (Tech.)

(Member)

Pradeep Sharma, GM (T) (Member Secretary)

Sanjeev Malik, ED-III (Convener)

National Highways & Infrastructure Development Corporation Limited

Financial Bid Opening for:

Subject: Consultancy Services for Authority's Engineer for supervision of:

(i) Up-gradation to 4-lane with Paved Shoulder of Jammu-Akhnoor road section of NH-144A from Canal head (Km 0.800) to Ganesh Vihar (Km 6.000) of 5.2 Km length (ii) Up-gradation to 4-lane with Paved Shoulder of Jammu-Akhnoor road section of NH-144A from Ganesh Vihar (Km 6.000) to Hanuman Chowk (Km 30.000) of 24 Km length in the state of Jammu and Kashmir to be executed on EPC basis.

(iii) Widening and Up-gradation to 2 lane with paved shoulder configuration and geometric improvement from km 0.000 to km 16.990 on Chenani - Sudhmahadev section of NH-244 in the state of Jammu and Kashmir to be executed on EPC basis.

Date: 05.03.2019

Time: 1100 Hrs.

Venue: NHIDCL HQ, New Delhi

Tender ID: 2018_NHIDC_389275_1

	1			
Signature	11 Aprella	ry.in.		
E-mail ID	ath pathiloses meth,	anitVennsaymen		
Contact No.	0999880996	48181874		
Name of the Firm	18F Cretinga Euwestady 9860336668 athirestalasegmethin Aprell	Yougung Engineering 981818624 anilyoms@ymeny.in.		
Name	Ambikesh Throthi	ANIL VERMA.		
Sl. No.				







Item Rate BoQ

Tender Inviting Authority: NHIDCL

Name of Work: Consultancy Services for Authority's Engineer for Supervision of:

- (i) Up-gradation to 4-lane with Paved Shoulder of Jammu-Akhnoor road section of NH-144A from Canal head (Km 0.800) to Ganesh Vihar (Km 6.000) of 5.2 Km length
- (ii) Up-gradation to 4-lane with Paved Shoulder of Jammu-Akhnoor road section of NH-144A from Ganesh Vihar (Km 6.000) to Hanuman chowk (Km 30.000) of 24 Km length in the state of Jammu and Kashmir to be executed on EPC basis.
- (iii) Widening and Up-gradation to 2 lane with paved shoulder configuration and geometric improvement from km 0.000 to km 16.990 on Chenani Sudhmahadev section of NH-244 in the state of Jammu and Kashmir to be executed on EPC basis

BOQ

Contract No: NHIDCL/J&K/NH-144A & 244/J-A & C-S /AE/(R)/2017-18

Bidder Name :	RODIC CONSULTANTS PVT. LTD					
(This BO	Q template must not be modified/replaced by the bidde tender. Bid					else the bidder is liable to be rejected for this
NUMBER	TEXT #	NUMBER #	TEXT#	NUMBER #	NUMBER #	TEXT#
SI. No.	Item Description	Quantity	Units	BASIC RATE In Figures To be entered by the Bidder Rs. P	TOTAL AMOUNT Without GST	TOTAL AMOUNT In Words
1	2	4	5	13	54	55
1	Remuneration for Local Staff (inclusive of per Diem allowance)					
1.1	Team Leader Cum Senior Highway Engineer (1 No) (for three packages)	42.000	Nos	400000	16800000.00	INR One Crore Sixty Eight Lakh Only
1.2	Resident Engineer cum Road Safety Expert (1 No) (for three packages)	78.000	Nos	160000	12480000.00	INR One Crore Twenty Four Lakh Eighty Thousand Only
1.3	Sr. Contract Specialist (1 No) (for three packages)	14.000	Nos	100	1400.00	INR One Thousand Four Hundred Only
	Senior Quantity Surveyor (2 No) (one for both the packages on Jammu to Akhnoor section and one for Chenani to Sudhmahadev highway)	58.000	Nos	192551	11167958.00	INR One Crore Eleven Lakh Sixty Seven Thousand Nine Hundred & Fifty Eight Only
1.5	Material Engineer (2 No) (one for both the packages on Jammu to Akhnoor section and one for Chenani to Sudhmahadev highway)	58.000	Nos	200000	11600000.00	INR One Crore Sixteen Lakh Only
1.6	Bridge Design Specialist (1 No) (for the three packages)	4.000	Nos	630000	2520000.00	INR Twenty Five Lakh Twenty Thousand Only
1.7	Highway Design Specialist (1 No) (for the three packages)	4.000	Nos	100	400.00	INR Four Hundred Only
	Bridge & Structural Engineer (3 No) (one for each package)	95.000	Nos	183842	17464990.00	INR One Crore Seventy Four Lakh Sixty Four Thousand Nine Hundred & Ninety Only
1.9	Sub-Professional Staff					
	Quantity Surveyor (2 nos) (one for both the packages on Jammu to Akhnoor section and one for Chenani to Sudhmahadev highway)	60.000	Nos	96000	5760000.00	INR Fifty Seven Lakh Sixty Thousand Only
1.92	Survey Engineer (2 nos) (one for both the packages on Jammu to Akhnoor section and one for Chenani to Sudhmahadev highway)	60.000	Nos	64000	3840000.00	INR Thirty Eight Lakh Forty Thousand Only

1.93	Lab Technician (2 nos) (one for both the packages on Jammu to Akhnoor section and one for Chenani to Sudhmahadev highway)	60.000	Nos	56000	3360000.00	INR Thirty Three Lakh Sixty Thousand Only
2	Support Staff (inclusive of per diem allowance)					
2.1	Office Manager (2 nos) (one for both the packages on Jammu to Akhnoor section and one for Chenani to Sudhmahadev highway)	204.000	Nos	50000	10200000.00	INR One Crore Two Lakh Only
2.2	Accountant Cum Cashier (2 nos) (one for both the packages on Jammu to Akhnoor section and one for Chenani to Sudhmahadev highway)	204.000	Nos	34000	6936000.00	INR Sixty Nine Lakh Thirty Six Thousand Only
2.3	Photocopy machine Operator (2 nos) (one for both the packages on Jammu to Akhnoor section and one for Chenani to Sudhmahadev highway)	204.000	Nos	29000	5916000.00	INR Fifty Nine Lakh Sixteen Thousand Only
2.4	Computer operator cum steno (2 nos) (one for both the packages on Jammu to Akhnoor section and one for Chenani to Sudhmahadev highway)	204.000	Nos	31100	6344400.00	INR Sixty Three Lakh Forty Four Thousand Four Hundred Only
2.5	Office Boy (2 nos) (one for both the packages on Jammu to Akhnoor section and one for Chenani to Sudhmahadev highway)	204.000	Nos	19200	3916800.00	INR Thirty Nine Lakh Sixteen Thousand Eight Hundred Only
3	Transportation (Fixed Costs)					
3.1	Innova / Scorpio or equivalent (not more than 3 years old)	78.000	Nos	75000	5850000.00	INR Fifty Eight Lakh Fifty Thousand Only
3.2	Ambassador / Indica or equivalent (not more than 3 years old)	138.000	Nos	70000	9660000.00	INR Ninety Six Lakh Sixty Thousand Only
4	Duty Travel to Site(Fixed Costs): Professional and Sub-Professional Staff. The employer may require the key personnel to visit the Employer's Site Offices/Regional Office. The quoted amount against remuneration should include travel fare for 20 round trip to Employer's Head Office and 20 round trip to Employer's regional office. (including Hotel Charges,travel costs etc. complete)	1.000	LS	2000	2000.00	INR Two Thousand Only
5	Office Rent (Fixed Costs) Two offices of minimum sizes 200 sqm and 100 sqm area shall be rented at Jammu and at convenient location on Chenani-Sudhmahadev respectively for construction period and only one office of 150 sqm at Jammu for Defect Liability Period. The rent cost includes electricity and water charges, maintenance, cleaning, repairs, etc. complete.					
5.1	Construction period for Project -(i) & (ii)	30.000	Nos	132646	3979380.00	INR Thirty Nine Lakh Seventy Nine Thousand Three Hundred & Eighty Only
5.2	Construction period for Project -(iii)	24.000	Nos	110000	2640000.00	INR Twenty Six Lakh Forty Thousand Only
5.3	Defect Liability for all three projects	48.000	Nos	100	4800.00	INR Four Thousand Eight Hundred Only
6	A. Office Supplies, Utilities and Communication (Fixed Costs) For Package (i) & (ii) of Jammu to Akhnoor Section					
6.1	Office Supplies	78.000	Nos	16000	1248000.00	INR Twelve Lakh Forty Eight Thousand Only
			1			l

6.2	Drafting Supplies	78.000	Nos	16000	1248000.00	INR Twelve Lakh Forty Eight Thousand Only
6.3	Computer Running Costs	78.000	Nos	16000	1248000.00	INR Twelve Lakh Forty Eight Thousand Only
6.4	Domestic and International Communication	78.000	Nos	16000	1248000.00	INR Twelve Lakh Forty Eight Thousand Only
6.5	B. Office Supplies, Utilities and Communication (Fixed Costs) For package (iii) of Chenani- Sudhmahadev Office Supplies	72.000	Nos	100	7200.00	INR Seven Thousand Two Hundred Only
6.6	Drafting Supplies	72.000	Nos	100	7200.00	INR Seven Thousand Two Hundred Only
6.7	Computer Running Costs	72.000	Nos	100	7200.00	INR Seven Thousand Two Hundred Only
6.8	Domestic and International Communication	72.000	Nos	100	7200.00	INR Seven Thousand Two Hundred Only
7	Office Furniture and Equipment (Rental)					
7.01	Executive Table (Godrej make, model No.T-108orequivalent) (8 Nos)	624.000	Nos	500	312000.00	INR Three Lakh Twelve Thousand Only
7.02	Executive Chairs(Godrej make, model No.PCH-701orequivalent) (8 Nos)	624.000	Nos	500	312000.00	INR Three Lakh Twelve Thousand Only
7.03	Tables(Godrej make, model No.T-104 or equivalent) (4 Nos)	168.000	Nos	500	84000.00	INR Eighty Four Thousand Only
7.04	Ordinary Chairs Type-1(Godrej make,Model NoT-CHR-6 or equivalent) (15 Nos)	630.000	Nos	500	315000.00	INR Three Lakh Fifteen Thousand Only
7.05	Tables(for all other staff)(Godrej make,modelNo.T-101orequivalent) (4 Nos)	168.000	Nos	500	84000.00	INR Eighty Four Thousand Only
7.06	Ordinary Chairs–Type II (for all other staff) (Godrej make,modelNo.CHR-6 or equivalent (10 Nos)	420.000	Nos	400	168000.00	INR One Lakh Sixty Eight Thousand Only
7.07	Steel Almirah 1270mmx765mmx440mm(Godrej make, model minor plain or equivalent) (6 Nos)	468.000	Nos	400	187200.00	INR One Lakh Eighty Seven Thousand Two Hundred Only
7.08	Visitors chairs/Conference room chairs (Godrej make, model No. DCH7004 or equivalent) (6 Nos)	252.000	Nos	300	75600.00	INR Seventy Five Thousand Six Hundred Only
7.09	Tables for computers with 3 drawers, keyboard/mouse pull out trays size 1664mmx 900(Godrej make. Or equivalent as per Engineer's design) (4 Nos)	168.000	Nos	300	50400.00	INR Fifty Thousand Four Hundred Only
7.10	Printer desks(Godrej make or equivalent) (4 Nos)	168.000	Nos	300	50400.00	INR Fifty Thousand Four Hundred Only
7.11	Side tables (Godrej make or equivalent) (4 Nos)	168.000	Nos	300	50400.00	INR Fifty Thousand Four Hundred Only
7.12	Conference Table(Godrej make, model No.T-12 or equivalent) (1 No)	42.000	Nos	300	12600.00	INR Twelve Thousand Six Hundred Only
7.13	Revolving Chairs for Computer Room/Drawing room (3 Nos)	126.000	Nos	300	37800.00	INR Thirty Seven Thousand Eight Hundred Only
7.14	Telephone with PABX facilities (2External lines&10internal lines) (4 Nos)	312.000	Nos	300	93600.00	INR Ninety Three Thousand Six Hundred Only
7.15	Photocopier (3 No)	234.000	Nos	300	70200.00	INR Seventy Thousand Two Hundred Only
7.16	Fax (3 No)	234.000	Nos	300	70200.00	INR Seventy Thousand Two Hundred Only
7.17	Air-Conditioner(1.5Ton) (3 Nos)	234.000	Nos	300	70200.00	INR Seventy Thousand Two Hundred Only
7.18	Computer PC (state of the art) (4 Nos)	312.000	Nos	300	93600.00	INR Ninety Three Thousand Six Hundred Only
7.19	LaserJet Printers (3 Nos)	234.000	Nos	300	70200.00	INR Seventy Thousand Two Hundred Only

7.20	Diesel Generator (20KVA)with running Cost (2 No)	156.000	Nos	100	15600.00 INR Fifteen Thousand Six Hundred Only	15600.00 IN	у
7.21	Binding Machine (1 No)	78.000	Nos	500	39000.00 INR Thirty Nine Thousand Only	39000.00 IN	
7.22	Air Cooler(of 24" size fan with suitable Pump and shall be of either GEC, Katina or Cool Home make or equivalent) (3 Nos)	234.000	Nos	500	117000.00 INR One Lakh Seventeen Thousand Only	117000.00 IN	ıly
7.23	Water Coolers (Voltas or equivalent) (3 No)	234.000	Nos	500	117000.00 INR One Lakh Seventeen Thousand Only	117000.00 IN	nly
7.24	Software	1.000	LS	500	500.00 INR Five Hundred Only	500.00 IN	
8	Survey Equipment with Survey Party and Vehicle etc complete						
8.1	Rental cost towards Survey Equipment(GPS/Total station /Auto Level/LIDAR) with semiskilled survey Party (4 persons) and one dedicated vehicle for Survey Party (inclusive of vehicle rental driver's salary, fuel operation	30.000	Nos	100	3000.00 INR Three Thousand Only	3000.00 IN	
9	Contigencies	1.000	Nos	1000000	1000000.00 INR Ten Lakh Only		
Total in Fig	gures		•	,	148964428.00 INR Fourteen Crore Eighty Nine Lakh Sixty For Thousand Four Hundred & Twenty Eight Only	148964428.00 IN	ty Four Only
Quoted Ra	ate in Words						

Total GST amount*	26813597
Total costs inculiding GST	175778025.00
* The bidder is required to GST	fill the total amount of

Contigencies is 1000000/- fixed.

Bidder fill the Contigencies Amount in Coloum M, Row 76.







Item Rate BoQ

Tender Inviting Authority: NHIDCL

Name of Work: Consultancy Services for Authority's Engineer for Supervision of:

- (i) Up-gradation to 4-lane with Paved Shoulder of Jammu-Akhnoor road section of NH-144A from Canal head (Km 0.800) to Ganesh Vihar (Km 6.000) of 5.2 Km length
- (ii) Up-gradation to 4-lane with Paved Shoulder of Jammu-Akhnoor road section of NH-144A from Ganesh Vihar (Km 6.000) to Hanuman chowk (Km 30.000) of 24 Km length in the state of Jammu and Kashmir to be executed on EPC basis.
- (iii) Widening and Up-gradation to 2 lane with paved shoulder configuration and geometric improvement from km 0.000 to km 16.990 on Chenani Sudhmahadev section of NH-244 in the state of Jammu and Kashmir to be executed on EPC basis

BOQ

Contract No: NHIDCL/J&K/NH-144A & 244/J-A & C-S /AE/(R)/2017-18

Bidder Name :	TPF Getinsa Euroestudios S L										
PRICE SCHEDULE (This BOQ template must not be modified/replaced by the bidder and the same should be uploaded after filling the relevent columns, else the bidder is liable to be rejected for this tender. Bidders are allowed to enter the Bidder Name and Values only)											
NUMBER	TEXT #	NUMBER #	TEXT#	NUMBER #	NUMBER #	TEXT #					
SI. No.	Item Description	Quantity	Units	BASIC RATE In Figures To be entered by the Bidder Rs. P	TOTAL AMOUNT With Taxes	TOTAL AMOUNT In Words					
1	2	4	5	13	54	55					
1	Remuneration for Local Staff (inclusive of per Diem allowance)										
1.1	Team Leader Cum Senior Highway Engineer (1 No) (for three packages)	42.000	Nos	177000	7434000.00	INR Seventy Four Lakh Thirty Four Thousand Only					
1.2	Resident Engineer cum Road Safety Expert (1 No) (for three packages)	78.000	Nos	175230	13667940.00	INR One Crore Thirty Six Lakh Sixty Seven Thousand Nine Hundred & Forty Only					
1.3	Sr. Contract Specialist (1 No) (for three packages)	14.000	Nos	286740		INR Forty Lakh Fourteen Thousand Three Hundred & Sixty Only					
1.4	Senior Quantity Surveyor (2 No) (one for both the packages on Jammu to Akhnoor section and one for Chenani to Sudhmahadev highway)	58.000	Nos	206500	11977000.00	INR One Crore Nineteen Lakh Seventy Seven Thousand Only					
1.5	Material Engineer (2 No) (one for both the packages on Jammu to Akhnoor section and one for Chenani to Sudhmahadev highway)	58.000	Nos	59000	3422000.00	INR Thirty Four Lakh Twenty Two Thousand Only					
1.6	Bridge Design Specialist (1 No) (for the three packages)	4.000	Nos	286740	1146960.00	INR Eleven Lakh Forty Six Thousand Nine Hundred & Sixty Only					
1.7	Highway Design Specialist (1 No) (for the three packages)	4.000	Nos	59000	236000.00	INR Two Lakh Thirty Six Thousand Only					
1.8	Bridge & Structural Engineer (3 No) (one for each package)	95.000	Nos	147500	14012500.00	INR One Crore Forty Lakh Twelve Thousand Five Hundred Only					
1.9	Sub-Professional Staff										
1.91	Quantity Surveyor (2 nos) (one for both the packages on Jammu to Akhnoor section and one for Chenani to Sudhmahadev highway)	60.000	Nos	82600	4956000.00	INR Forty Nine Lakh Fifty Six Thousand Only					
1.92	Survey Engineer (2 nos) (one for both the packages on Jammu to Akhnoor section and one for Chenani to Sudhmahadev highway)	60.000	Nos	64900	3894000.00	INR Thirty Eight Lakh Ninety Four Thousand Only					

1.93	Lab Technician (2 nos) (one for both the packages on	60.000	Nos	59000	3540000.00	INR Thirty Five Lakh Forty Thousand Only
	Jammu to Akhnoor section and one for Chenani to Sudhmahadev highway)					
2	Support Staff (inclusive of per diem allowance)					
2.1	Office Manager (2 nos) (one for both the packages on Jammu to Akhnoor section and one for Chenani to Sudhmahadev highway)	204.000	Nos	64900	13239600.00	INR One Crore Thirty Two Lakh Thirty Nine Thousand Six Hundred Only
2.2	Accountant Cum Cashier (2 nos) (one for both the packages on Jammu to Akhnoor section and one for Chenani to Sudhmahadev highway)	204.000	Nos	57820	11795280.00	INR One Crore Seventeen Lakh Ninety Five Thousand Two Hundred & Eighty Only
2.3	Photocopy machine Operator (2 nos) (one for both the packages on Jammu to Akhnoor section and one for Chenani to Sudhmahadev highway)	204.000	Nos	56050	11434200.00	INR One Crore Fourteen Lakh Thirty Four Thousand Two Hundred Only
2.4	Computer operator cum steno (2 nos) (one for both the packages on Jammu to Akhnoor section and one for Chenani to Sudhmahadev highway)	204.000	Nos	50150	10230600.00	INR One Crore Two Lakh Thirty Thousand Six Hundred Only
2.5	Office Boy (2 nos) (one for both the packages on Jammu to Akhnoor section and one for Chenani to Sudhmahadev highway)	204.000	Nos	26550	5416200.00	INR Fifty Four Lakh Sixteen Thousand Two Hundred Only
3	Transportation (Fixed Costs)					
3.1	Innova / Scorpio or equivalent (not more than 3 years old)	78.000	Nos	82600	6442800.00	INR Sixty Four Lakh Forty Two Thousand Eight Hundred Only
3.2	Ambassador / Indica or equivalent (not more than 3 years old)	138.000	Nos	73160	10096080.00	INR One Crore Ninety Six Thousand &Eighty Only
4	Duty Travel to Site(Fixed Costs): Professional and Sub-Professional Staff. The employer may require the key personnel to visit the Employer's Site Offices/Regional Office. The quoted amount against remuneration should include travel fare for 20 round trip to Employer's Head Office and 20 round trip to Employer's regional office. (including Hotel Charges,travel costs etc. complete)	1.000	LS	236	236.00	INR Two Hundred & Thirty Six Only
5	Office Rent (Fixed Costs) Two offices of minimum sizes 200 sqm and 100 sqm area shall be rented at Jammu and at convenient location on Chenani-Sudhmahadev respectively for construction period and only one office of 150 sqm at Jammu for Defect Liability Period. The rent cost includes electricity and water charges, maintenance, cleaning, repairs, etc. complete.					
5.1	Construction period for Project -(i) & (ii)	30.000	Nos	112100	3363000.00	INR Thirty Three Lakh Sixty Three Thousand Only
5.2	Construction period for Project -(iii)	24.000	Nos	88500	2124000.00	INR Twenty One Lakh Twenty Four Thousand Only
5.3	Defect Liability for all three projects	48.000	Nos	94400	4531200.00	INR Forty Five Lakh Thirty One Thousand Two Hundred Only
6	A. Office Supplies, Utilities and Communication (Fixed Costs) For Package (i) & (ii) of Jammu to Akhnoor Section					
6.1	Office Supplies	78.000	Nos	17700	1380600.00	INR Thirteen Lakh Eighty Thousand Six Hundred Only
						1 =,

6.2	Drafting Supplies	78.000	Nos	17700	1380600.00	INR Thirteen Lakh Eighty Thousand Six Hundred
6.3	Computer Running Costs	78.000	Nos	17700	1380600.00	Only INR Thirteen Lakh Eighty Thousand Six Hundre Only
6.4	Domestic and International Communication	78.000	Nos	47200	3681600.00	INR Thirty Six Lakh Eighty One Thousand Six Hundred Only
6.5	B. Office Supplies, Utilities and Communication (Fixed Costs) For package (iii) of Chenani- Sudhmahadev Office Supplies	72.000	Nos	8850	637200.00	INR Six Lakh Thirty Seven Thousand Two Hundred Only
6.6	Drafting Supplies	72.000	Nos	5900	424800.00	INR Four Lakh Twenty Four Thousand Eight Hundred Only
6.7	Computer Running Costs	72.000	Nos	5900	424800.00	INR Four Lakh Twenty Four Thousand Eight Hundred Only
6.8	Domestic and International Communication	72.000	Nos	59000	4248000.00	INR Forty Two Lakh Forty Eight Thousand Onl
7	Office Furniture and Equipment (Rental)					
7.01	Executive Table (Godrej make, model No.T-108orequivalent) (8 Nos)	624.000	Nos	472	294528.00	INR Two Lakh Ninety Four Thousand Five Hundred & Twenty Eight Only
7.02	Executive Chairs(Godrej make, model No.PCH-701orequivalent) (8 Nos)	624.000	Nos	295	184080.00	INR One Lakh Eighty Four Thousand &Eighty Only
7.03	Tables(Godrej make, model No.T-104 or equivalent) (4 Nos)	168.000	Nos	354	59472.00	INR Fifty Nine Thousand Four Hundred & Seventy Two Only
7.04	Ordinary Chairs Type-1(Godrej make,Model NoT-CHR-6 or equivalent) (15 Nos)	630.000	Nos	236	148680.00	INR One Lakh Forty Eight Thousand Six Hundre & Eighty Only
7.05	Tables(for all other staff)(Godrej make,modelNo.T-101orequivalent) (4 Nos)	168.000	Nos	212	35616.00	INR Thirty Five Thousand Six Hundred & Sixteel Only
7.06	Ordinary Chairs-Type II (for all other staff) (Godrej make,modelNo.CHR-6 or equivalent (10 Nos)	420.000	Nos	200	84000.00	INR Eighty Four Thousand Only
7.07	Steel Almirah 1270mmx765mmx440mm(Godrej make, model minor plain or equivalent) (6 Nos)	468.000	Nos	590	276120.00	INR Two Lakh Seventy Six Thousand One Hundred & Twenty Only
7.08	Visitors chairs/Conference room chairs (Godrej make, model No. DCH7004 or equivalent) (6 Nos)	252.000	Nos	236	59472.00	INR Fifty Nine Thousand Four Hundred & Seventy Two Only
7.09	Tables for computers with 3 drawers, keyboard/mouse pull out trays size 1664mmx 900(Godrej make. Or equivalent as per Engineer's design) (4 Nos)	168.000	Nos	260	43680.00	INR Forty Three Thousand Six Hundred & Eight Only
7.10	Printer desks(Godrej make or equivalent) (4 Nos)	168.000	Nos	0	0.00	INR Zero Only
7.11	Side tables (Godrej make or equivalent) (4 Nos)	168.000	Nos	0	0.00	INR Zero Only
7.12	Conference Table(Godrej make, model No.T-12 or equivalent) (1 No)	42.000	Nos	826	34692.00	INR Thirty Four Thousand Six Hundred & Ninety Two Only
7.13	Revolving Chairs for Computer Room/Drawing room (3 Nos)	126.000	Nos	354	44604.00	INR Forty Four Thousand Six Hundred & Four Only
7.14	Telephone with PABX facilities (2External lines&10internal lines) (4 Nos)	312.000	Nos	118	36816.00	INR Thirty Six Thousand Eight Hundred & Sixteen Only
7.15	Photocopier (3 No)	234.000	Nos	12980	3037320.00	INR Thirty Lakh Thirty Seven Thousand Three Hundred & Twenty Only
7.16	Fax (3 No)	234.000	Nos	0	0.00	INR Zero Only
7.17	Air-Conditioner(1.5Ton) (3 Nos)	234.000	Nos	1180	276120.00	INR Two Lakh Seventy Six Thousand One Hundred & Twenty Only
7.18	Computer PC (state of the art) (4 Nos)	312.000	Nos	1180	368160.00	INR Three Lakh Sixty Eight Thousand One Hundred & Sixty Only
7.19	LaserJet Printers (3 Nos)	234.000	Nos	0	0.00	INR Zero Only

7.20	Diesel Generator (20KVA)with running Cost (2 No)	156.000	Nos	8260		INR Twelve Lakh Eighty Eight Thousand Five Hundred & Sixty Only
7.21	Binding Machine (1 No)	78.000	Nos	118		INR Nine Thousand Two Hundred & Four Only
7.22	Air Cooler(of 24" size fan with suitable Pump and shall be of either GEC, Katina or Cool Home make or equivalent) (3 Nos)		Nos	236	55224.00	INR Fifty Five Thousand Two Hundred & Twenty Four Only
7.23	Water Coolers (Voltas or equivalent) (3 No)	234.000	Nos	236	55224.00	INR Fifty Five Thousand Two Hundred & Twenty Four Only
7.24	Software	1.000	LS	590000	590000.00	INR Five Lakh Ninety Thousand Only
8	Survey Equipment with Survey Party and Vehicle etc complete					
8.1	Rental cost towards Survey Equipment(GPS/Total station /Auto Level/LIDAR) with semiskilled survey Party (4 persons) and one dedicated vehicle for Survey Party (inclusive of vehicle rental driver's salary, fuel operationand maintenance etc complete) with rods, flags and other sundries		Nos	59000	1770000.00	INR Seventeen Lakh Seventy Thousand Only
9	Contigencies	1.000	Nos	1000000	1000000.00	INR Ten Lakh Only
Total in Fig	gures		•	•	170283728.00	INR Seventeen Crore Two Lakh Eighty Three Thousand Seven Hundred & Twenty Eight Only
Quoted Ra	tte in Words					

ANNEXURE-II

Contigencies is 1000000/- fixed.

Bidder fill the Contigencies Amount in Coloum M, Row 71

76

TOTAL AMOUNT With Taxes also includes GST







Item Rate BoQ

Tender Inviting Authority: NHIDCL

Name of Work: Consultancy Services for Authority's Engineer for Supervision of:

- (i) Up-gradation to 4-lane with Paved Shoulder of Jammu-Akhnoor road section of NH-144A from Canal head (Km 0.800) to Ganesh Vihar (Km 6.000) of 5.2 Km length
- (ii) Up-gradation to 4-lane with Paved Shoulder of Jammu-Akhnoor road section of NH-144A from Ganesh Vihar (Km 6.000) to Hanuman chowk (Km 30.000) of 24 Km length in the state of Jammu and Kashmir to be executed on EPC basis.
- (iii) Widening and Up-gradation to 2 lane with paved shoulder configuration and geometric improvement from km 0.000 to km 16.990 on Chenani Sudhmahadev section of NH-244 in the state of Jammu and Kashmir to be executed on EPC basis

BOQ

Contract No: NHIDCL/J&K/NH-144A & 244/J-A & C-S /AE/(R)/2017-18

Bidder Name :	YONGMA ENGINEERING CO. LTD. IN ASSOCIATION W	ITH MANGLAM	ASSOCIAT	ES		
(This BC	OQ template must not be modified/replaced by the bidde tender. Bid					else the bidder is liable to be rejected for this
NUMBER	TEXT #	NUMBER #	TEXT #	NUMBER #	NUMBER #	TEXT #
SI. No.	Item Description	Quantity	Units	BASIC RATE In Figures To be entered by the Bidder Rs. P	TOTAL AMOUNT Without GST	TOTAL AMOUNT In Words
1	2	4	5	13	54	55
1	Remuneration for Local Staff (inclusive of per Diem allowance)					
1.1	Team Leader Cum Senior Highway Engineer (1 No) (for three packages)	42.000	Nos	160000	6720000.00	INR Sixty Seven Lakh Twenty Thousand Only
1.2	Resident Engineer cum Road Safety Expert (1 No) (for three packages)	78.000	Nos	143500	11193000.00	INR One Crore Eleven Lakh Ninety Three Thousand Only
1.3	Sr. Contract Specialist (1 No) (for three packages)	14.000	Nos	143500	2009000.00	INR Twenty Lakh Nine Thousand Only
1.4	Senior Quantity Surveyor (2 No) (one for both the packages on Jammu to Akhnoor section and one for Chenani to Sudhmahadev highway)	58.000	Nos	143500	8323000.00	INR Eighty Three Lakh Twenty Three Thousand Only
1.5	Material Engineer (2 No) (one for both the packages on Jammu to Akhnoor section and one for Chenani to Sudhmahadev highway)	58.000	Nos	143500	8323000.00	INR Eighty Three Lakh Twenty Three Thousand Only
1.6	Bridge Design Specialist (1 No) (for the three packages)	4.000	Nos	143500	574000.00	INR Five Lakh Seventy Four Thousand Only
1.7	Highway Design Specialist (1 No) (for the three packages)	4.000	Nos	143500	574000.00	INR Five Lakh Seventy Four Thousand Only
1.8	Bridge & Structural Engineer (3 No) (one for each package)	95.000	Nos	143500	13632500.00	INR One Crore Thirty Six Lakh Thirty Two Thousand Five Hundred Only
1.9	Sub-Professional Staff					
1.91	Quantity Surveyor (2 nos) (one for both the packages on Jammu to Akhnoor section and one for Chenani to Sudhmahadev highway)	60.000	Nos	120000	7200000.00	INR Seventy Two Lakh Only
1.92	Survey Engineer (2 nos) (one for both the packages on Jammu to Akhnoor section and one for Chenani to Sudhmahadev highway)	60.000	Nos	115000	6900000.00	INR Sixty Nine Lakh Only

1.93	Lab Technician (2 nos) (one for both the packages on Jammu to Akhnoor section and one for Chenani to Sudhmahadev highway)	60.000	Nos	110000	6600000.00	INR Sixty Six Lakh Only
2	Support Staff (inclusive of per diem allowance)					
2.1	Office Manager (2 nos) (one for both the packages on Jammu to Akhnoor section and one for Chenani to Sudhmahadev highway)	204.000	Nos	70000	14280000.00	INR One Crore Forty Two Lakh Eighty Thousand Only
2.2	Accountant Cum Cashier (2 nos) (one for both the packages on Jammu to Akhnoor section and one for Chenani to Sudhmahadev highway)	204.000	Nos	60000	12240000.00	INR One Crore Twenty Two Lakh Forty Thousand Only
2.3	Photocopy machine Operator (2 nos) (one for both the packages on Jammu to Akhnoor section and one for Chenani to Sudhmahadev highway)	204.000	Nos	40000	8160000.00	INR Eighty One Lakh Sixty Thousand Only
2.4	Computer operator cum steno (2 nos) (one for both the packages on Jammu to Akhnoor section and one for Chenani to Sudhmahadev highway)	204.000	Nos	40000	8160000.00	INR Eighty One Lakh Sixty Thousand Only
2.5	Office Boy (2 nos) (one for both the packages on Jammu to Akhnoor section and one for Chenani to Sudhmahadev highway)	204.000	Nos	40000	8160000.00	INR Eighty One Lakh Sixty Thousand Only
3	Transportation (Fixed Costs)					
3.1	Innova / Scorpio or equivalent (not more than 3 years old)	78.000	Nos	35000	2730000.00	INR Twenty Seven Lakh Thirty Thousand Only
3.2	Ambassador / Indica or equivalent (not more than 3 years old)	138.000	Nos	35000	4830000.00	INR Forty Eight Lakh Thirty Thousand Only
4	Duty Travel to Site(Fixed Costs): Professional and Sub-Professional Staff. The employer may require the key personnel to visit the Employer's Site Offices/Regional Office. The quoted amount against remuneration should include travel fare for 20 round trip to Employer's Head Office and 20 round trip to Employer's regional office. (including Hotel Charges,travel costs etc. complete)	1.000	LS	550000	550000.00	INR Five Lakh Fifty Thousand Only
5	Office Rent (Fixed Costs) Two offices of minimum sizes 200 sqm and 100 sqm area shall be rented at Jammu and at convenient location on Chenani-Sudhmahadev respectively for construction period and only one office of 150 sqm at Jammu for Defect Liability Period. The rent cost includes electricity and water charges, maintenance, cleaning, repairs, etc. complete.					
5.1	Construction period for Project -(i) & (ii)	30.000	Nos	25000	750000.00	INR Seven Lakh Fifty Thousand Only
5.2	Construction period for Project -(iii)	24.000	Nos	25000	600000.00	INR Six Lakh Only
5.3	Defect Liability for all three projects	48.000	Nos	25000	1200000.00	INR Twelve Lakh Only
6	A. Office Supplies, Utilities and Communication (Fixed Costs) For Package (i) & (ii) of Jammu to Akhnoor Section					
6.1	Office Supplies	78.000	Nos	2000	156000.00	INR One Lakh Fifty Six Thousand Only
	,					

6.2	Drafting Supplies	78.000	Nos	2000	156000.00	INR One Lakh Fifty Six Thousand Only
6.3	Computer Running Costs	78.000	Nos	2000	156000.00	INR One Lakh Fifty Six Thousand Only
6.4	Domestic and International Communication	78.000	Nos	1000	78000.00	INR Seventy Eight Thousand Only
6.5	B. Office Supplies, Utilities and Communication (Fixed Costs) For package (iii) of Chenani- Sudhmahadev Office Supplies	72.000	Nos	2000	144000.00	INR One Lakh Forty Four Thousand Only
6.6	Drafting Supplies	72.000	Nos	2000	144000.00	INR One Lakh Forty Four Thousand Only
6.7	Computer Running Costs	72.000	Nos	2000	144000.00	INR One Lakh Forty Four Thousand Only
6.8	Domestic and International Communication	72.000	Nos	1000	72000.00	INR Seventy Two Thousand Only
7	Office Furniture and Equipment (Rental)					
7.01	Executive Table (Godrej make, model No.T-108orequivalent) (8 Nos)	624.000	Nos	200	124800.00	INR One Lakh Twenty Four Thousand Eight Hundred Only
7.02	Executive Chairs(Godrej make, model No.PCH-701orequivalent) (8 Nos)	624.000	Nos	200	124800.00	INR One Lakh Twenty Four Thousand Eight Hundred Only
7.03	Tables(Godrej make, model No.T-104 or equivalent) (4 Nos)	168.000	Nos	200	33600.00	INR Thirty Three Thousand Six Hundred Only
7.04	Ordinary Chairs Type-1(Godrej make,Model NoT-CHR-6 or equivalent) (15 Nos)	630.000	Nos	200	126000.00	INR One Lakh Twenty Six Thousand Only
7.05	Tables(for all other staff)(Godrej make,modelNo.T-101orequivalent) (4 Nos)	168.000	Nos	200	33600.00	INR Thirty Three Thousand Six Hundred Only
7.06	Ordinary Chairs-Type II (for all other staff) (Godrej make,modelNo.CHR-6 or equivalent (10 Nos)	420.000	Nos	200	84000.00	INR Eighty Four Thousand Only
7.07	Steel Almirah 1270mmx765mmx440mm(Godrej make, model minor plain or equivalent) (6 Nos)	468.000	Nos	200	93600.00	INR Ninety Three Thousand Six Hundred Only
7.08	Visitors chairs/Conference room chairs (Godrej make, model No. DCH7004 or equivalent) (6 Nos)	252.000	Nos	200	50400.00	INR Fifty Thousand Four Hundred Only
7.09	Tables for computers with 3 drawers, keyboard/mouse pull out trays size 1664mmx 900(Godrej make. Or equivalent as per Engineer's design) (4 Nos)	168.000	Nos	200	33600.00	INR Thirty Three Thousand Six Hundred Only
7.10	Printer desks(Godrej make or equivalent) (4 Nos)	168.000	Nos	200	33600.00	INR Thirty Three Thousand Six Hundred Only
7.11	Side tables (Godrej make or equivalent) (4 Nos)	168.000	Nos	200	33600.00	INR Thirty Three Thousand Six Hundred Only
7.12	Conference Table(Godrej make, model No.T-12 or equivalent) (1 No)	42.000	Nos	200	8400.00	INR Eight Thousand Four Hundred Only
7.13	Revolving Chairs for Computer Room/Drawing room (3 Nos)	126.000	Nos	200	25200.00	INR Twenty Five Thousand Two Hundred Only
7.14	Telephone with PABX facilities (2External lines&10internal lines) (4 Nos)	312.000	Nos	200	62400.00	INR Sixty Two Thousand Four Hundred Only
7.15	Photocopier (3 No)	234.000	Nos	200	46800.00	INR Forty Six Thousand Eight Hundred Only
7.16	Fax (3 No)	234.000	Nos	200	46800.00	INR Forty Six Thousand Eight Hundred Only
7.17	Air-Conditioner(1.5Ton) (3 Nos)	234.000	Nos	200	46800.00	INR Forty Six Thousand Eight Hundred Only
7.18	Computer PC (state of the art) (4 Nos)	312.000	Nos	200	62400.00	INR Sixty Two Thousand Four Hundred Only
7.19	LaserJet Printers (3 Nos)	234.000	Nos	200	46800.00	INR Forty Six Thousand Eight Hundred Only
	I	l			I .	l .

7.20	Diesel Generator (20KVA)with running Cost (2 No)	156.000	Nos	200	31200.00	INR Thirty One Thousand Two Hundred Only
7.21	Binding Machine (1 No)	78.000	Nos	200	15600.00	INR Fifteen Thousand Six Hundred Only
7.22	Air Cooler(of 24" size fan with suitable Pump and shall be of either GEC, Katina or Cool Home make or equivalent) (3 Nos)	234.000	Nos	200	46800.00	INR Forty Six Thousand Eight Hundred Only
7.23	Water Coolers (Voltas or equivalent) (3 No)	234.000	Nos	200	46800.00	INR Forty Six Thousand Eight Hundred Only
7.24	Software	1.000	LS	50555		INR Fifty Thousand Five Hundred & Fifty Five Only
8	Survey Equipment with Survey Party and Vehicle etc complete					
8.1	Rental cost towards Survey Equipment(GPS/Total station /Auto Level/LIDAR) with semiskilled survey Party (4 persons) and one dedicated vehicle for Survey Party (inclusive of vehicle rental driver's salary, fuel operationand maintenance etc complete) with rods, flags and other sundries	30.000	Nos	15000	450000.00	INR Four Lakh Fifty Thousand Only
9	Contigencies	1.000	Nos	1000000		INR Ten Lakh Only
Total in Fig	gures				137516655.00	INR Thirteen Crore Seventy Five Lakh Sixteen Thousand Six Hundred & Fifty Five Only
Quoted Ra	ate in Words					

Total GST amount*	24752998		
Total costs inculiding GST	162269653.00		
* The bidder is required to fill the total amount of GST			

Contigencies is 1000000/- fixed.

Bidder fill the Contigencies Amount in Coloum M, Row 76.